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1.

2.  ( ).

3. : , ,
.

4. .

 – (    - G)

1.  -  -  - . 
. , . (G1)

2.  (G2)

3. ,  ( ). ? (G3)

4.  ( ) - . (G4)

5. . . (G5)



83

  	 	
  	

= ( ) = ( , , . . )	 -  

= ( ) = ( , , . . )	 - 

= ( , , , … , )	–   

Yp -   

  
 - 

=

B            – 
Bcredit  – ,
Bdebit    – 
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 ( )  (

 {P1, P2, P3, P4, P5, P6,}.

Players ( ,  ):

Player  ( )
Users       U.Rep
Res.Owner              Ow.Rep
Isp.owner   

 (ISP)
 ISP  -                   Is.Rep

Developers          D.Rep
Admin    A.Rep
Search Engine (System)
(SEO)

 (Google, Ozon.
Amazon, ..)

 S.Rep
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P={User, Res.Own, Isp.Own, SEO, Adm, Dev}

Y(M) )  Y*   -  

(	 		)

	
	

=

	 ( ) \
( ) \
( ) \
( ) \
( ) \

( )

M *=( M | Y(M*) =Y*)

( ) = ( , , . . )  - 
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 (   )

  

   –                       Xs

  -    Xf

 ( ) -Xc

 –                         Xp

  -                       Xa
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FF=(XF,YF) –  (F)

Fk=(Xk,Yk) –  (K)

Fr=(Xr,Yr) –    (R)

 - SEO  (search

engine optimization - )

Fq=(Xq,Yq) –     (Q)

Fe=(Xe,Ye) –  (E)

Fm=(Xm,Ym) –  (M)

Fg=(Xg,Yg) –  (D)

Fh=(Xh,Yh) –    (H)

   Site=(F, K, R, Q, E, M, D, H)
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,   )

 ( ) Yr  ( )
SMO  (Social Media Optimization -

)

Yq

 ( )  Nt Yr1 A . Yq1 , 

 ( )  Qt Yr2 A  Twitter *
).

Yq2 , 

 ( ) 
Google.

 Dt Yr3 A . Yq3 , 

 Google.  Ft Yr4 A  Google 
.

Yq4 , 

Google.
 Dl Yr5 A

  Pp Yr6 A
Alexa Rank.  Ar Yr7 A
Page Rank.  Cr Yr8 A

, , 

- 
, Yf1

, Yf2
  , Yf3

Yf4
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Ym Ye
Ym1  Cost of visitor acquisition (

)
Ye1

Ym2  Return On Investment ( ) Ye2
Ym3  Cost per action ( ) Ye3

 ( , )
Ym4  cost per order (

)
Ye4

Ym5 Ye5
 ( ) Ym6 Ye6

Cost per contact ( ) Ye7

Yg Yk
 (

);
Yg1  ( ); Yk1 , 

: Yg2     ( ); Yk2 , 
; Yg3      ( ); Yk3 , 

 ( );
Yg4     (usability); Yk4 , 

. Yg5      ( ). Yk5 , 
Yg6 , 

; Yg7  ( ); Yk6 , 
, , . Yg8  ( ); Yk7 , 

 (usability) -
 (

);

Yg9  (
);

Yk8 , 

. ( ) Yg10 E  ( ,
, 

);

Yk9 , 

Yk10 , 
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Yh

).
Yh1

.
Yh2

, . Yh3
, . Yh4

. Yh5

 / 
Yh6

». Yh7
 ( ). Yh8

 (Eyetracking).
Yh9

Yh10 E
.

.

- , - ,  - ,  - .
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= ( ) =(Ye, Yr, Yq )=( Yk1,Yk2,… Yk10,  Yr1, Yr2, … Yr8, Yq1, Yq2,
…Yq4 )

= ( ) =(Yk)= (Yk1,Yk2, Yk3, … Yk10)
= ( )  =(Ym, Yr, Yq, Yk)=( Ym1,Ym2,… Ym4, Yr1, Yr2, … Yr8, Yq1, Yq2,

…Yq4, Yk1,Yk2,… Yk10)
SEO = ( ) =(Yr, Yq)= (Yr1, Yr2, … Yr8, Yq1, Yq2, …Yq4 )
ISP = ( )  =(Ym)= ( Ym1,Ym2,… Ym4)

= ( )  =(Yg, Yh)= ( Yg1,Yg2,… Yg10,  Yh1, Yh2, … Yh10)

:
 ( )  - .

 - , , , , 
, ... ..) -  ( ).

 ( ) - .

Y1=(1/na   aiPi= (1/na)( a1P1+ a2P2+ a3P3+…..+ akPk)= ( b1P1+ b2P2+ b3P3+ …..+ bkPk)

b1+ b2+ b3+…..+ bk = 1,   ak, bk – .

2 = (1/ ) ( )
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 ( )

  < >, < >

YM
W =F(a, Y0

W , Y0
U , Y0

S )= 1/ka(a1 Y0
W + a2 Y0

U + a3 Y0
S ),

ap-   = {0,1},    Y0
p (p= (W,U,S)), - ka- .

YM
U =F(b, Y0

W , Y0
U , Y0

S, Y0
A )= 1/kb (b1 Y0

W + b2 Y0
U + b3 Y0

S + b4 Y0
A),

bp-    [0, 1],   Y0
p (p= (W,U,S)), - kb -  b.

:     YM
U , , , 

 .

YM
Int =  (Y0

W , Y0
U , Y0

S, Y0
A, Y0

I, Y0
D)
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 ( )

 (Us) Us Us>U*s
 (Su) Su Su>S*u

, B> B * Nu  Nu>N*
 ( , ), Q> Q * Ps  Ps>Ps*

 Zw = 0 Zw=0
 Zu = 0 Zu=0

, R> R * R>R*
, Nu> Nu * Nu>Nu*

 ( ), Zd = 0 Zd=0

ISP
.  Zi=0 Zi=0

Search Engine ( )
 ( ), Rs>Rs* Rs Rs>Rs*
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 ( ). 

.

 ( , ) ( ) A A>A*

 ( ) (Nu), Nu  Nu>N*
 (Ps) Ps  Ps>Ps*

 (Ps) Ps  Ps>Ps*
 (Ls) Ls  Ls>Ls*

, (Hf) Hf Hf=0

ISP
, (Hu) Hu A>A*

Search Engine
 ( )),  (Rs) Rs Rs>Rs*
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. .
 0 -10 .

, ,  [0,1].
.

 Yij,  Yij(max) 
Yij(min) .

   (max, min) Yij  optim.
 max 

Yij / ( Yij(max)– Yij(min))

 min 

(Yij(max) – Yij)  / ( Yij(max)– Yij(min))

 [0, 1] 
.

. .
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(     16-  17)
 ( ){P1, P2, P3, P4, P5, P6,}.

 1.  ( )
 2.    Yp,  p={P1, P2, P3, P4, P5, P6,}
 3. (Ym, Yr, Yq, Yk)=( Ym1,Ym2,… Ym4,

Yr1, Yr2, … Yr8, Yq1, Yq2, …Yq4, Yk1,Yk2,… Yk10),  { ap},{ bp }.
 4.  {A, P, E, O}.
 5. .
 6. .
 7. YM

Int., YM
p

 ( ) ){P1, P2, P3, P4, P5, P6,}.
 1.  ( )
 2.  Yp,  p={P1, P2, P3, P4, P5, P6,}
 3. (Ym, Yr, Yq, Yk, …)=( Ym1,Ym2,… Ym4,

Yr1, Yr2, … Yr8, Yq1, Yq2, …Yq4, Yk1,Yk2,… Yk10, ..),  { ap}. . .
 4.  {A, P, E, O}.
 5. .
 6. .
 7. (Ym, Yr, Yq, Yk, …).
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 ( )

 1.  ( )
 2.   Yp,  p={P1, P2, P3, P4, P5, P6,},  - Y0

W , Y0
U , Y0

S, Y0
A

 3. (Ym, Yr, Yq, Yk, …)
 4.  {A, P, E, O}.
 5. .
 6. .
 7. (Ym, Yr, Yq, Yk, …).

 1. p={P1, P2, P3, P4, P5, P6,}
 2.  G={G1, G2, G3, ….}
 3.    (   17, 18)
 4. .  (Ym, Yr, Yq, Yk)=( Ym1,Ym2,… Ym4, Yr1, Yr2, … Yr8, Yq1, Yq2, …Yq4,

Yk1,Yk2,… Yk10),     { ap}.
 5.  { bp }
 6. 
 7. YM

W, YM
U, YM

Int

 8.  ( ,  , ).
 9. Site=(F, K, R, Q, E, M, D, H)
 10.  ( )
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:
. 

1)   ( ); (ma1, xa1)
2)  ( ); (ma2, xa2)
3)  ( ); (ma3, xa3)
4)  ( ); (ma4, xa5)
5)   ( ) (ma5, xa5)

. 
1)  ( ); (mb1, xb1)
2)  ( ); (mb2, xb2)
3)  ( ); (mb3, xb3)

. 
1)  ( ) (mc1, xc1)
2)  ; (mc2, xc2)
3) . (mc3, xc3)

M=(ma1,  ma2,  ma3,  ma4,  ma5,  mb1,  mb2,  mb3,  mc1,  mc2,  mc3)   -
  .

X=( xa1, xa2, xa3, xa4, xa5, xb1, xb2, xb3, xc1, xc2, xc3) – .
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Y– 
X –  

 – 

Y* – 
Y– 

Y*   Y
Y*– 

Y*  Y

 YW, YU,YS, YA, YI, YD  -
,
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(     24)

 1.  ( ) – Y

 2.   Y*   Y ( Y)

 3.      ( , , )

 4.   

 5.   Y*  Y  ( Y*)

 6. ,    (  3)

 7.   , .

 8. .

 9 (  1). .
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1.  -
2.  -
3.  - . ( ?)

YM
W =F(a, Y0

W , Y0
U , Y0

S )= F(Y0
U , Y0

S )

4. . 
 ( )

Yr1 Yr2 Yr3 Yr4 Yr5 Yr6 Yr7 Yr8 Yq1 Yq2 Yq3 Yq4 Yq5

0 0 0 1 0 0 1 1 1 0 0 1 0

 ( )
Yk1 Yk2 Yk3 Yk4

k5 k6 k7 k8

Yk9 Yk10

1 0 0 1 1 1 1 0 0 0

 ( )
Yh1 Yh2 Yh3 Yh4 Yh5 Yh6 Yh7 Yh8 Yh9 Yh10

0 1 0 1 1 0 0 0 0 0

»
Yr4 Yr7 Yr8 Yq1 Yq4 Yk1 Yk4 Yk5 Yk6 Yk7 Yh2 Yh4 Yh5
1 1 1 1 1 1 1 1 1 1 1 1 1
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5.

»
Yr4 Yr7 Yr8 Yq1 Yq4 Yk1 Yk4 Yk5 Yk6 Yk7 Yh2 Yh4 Yh5
1 1 1 1 1 1 1 1 1 1 1 1 1
100 8 6 200 150 8 8 8 6 10 10 5min 20
max min max max max max max max max max max max min
400 1 10 400 400 10 10 10 10 10 20 10 0
0 100 0 0 0 0 0 0 0 0 0 0 100

6.  ( )      p  max

»
Yr4 Yr7 Yr8 Yq1 Yq4 Yk1 Yk4 Yk5 Yk6 Yk7 Yh2 Yh4 Yh5
1 1 1 1 1 1 1 1 1 1 1 1 1
0.25 0.9 0.6 0.5 0.375 0.8 0.8 0.8 0.6 1 0.5 0.5 0.8

7.

Ywr=1/5(Yr4+Yr7+Yr8+Yq1+ Yq4)=1/5 (0.25+0.9+0.6+0.5+0.375)=2.625/5=0.52
Ywu=1/8(Yk1+Yk4+Yk5+Yk6+Yk7+Yh2+Yh4+Yh5)=1/8 (0.8+0.8+0.8+0.6+1+0.5+0.5+0.8)=5.8/8=0.725
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8.

1 2 3 4 5
0,45 0,68 0,5 0,55 0,727

1 2 3 4 5
0,45 0,68 0,5 0,55 0,727

 Ywu  = 0.8

0

0,1

0,2

0,3

0,4

0,5

0,6

0,7

0,8

0,9

1 2 3 4 5
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9.

W 0,7 0,6
U 0,8 0,72
S 0,8 0,5
A 0,9 0,5
I 0,9 0,8
D 0,8 0,4

Y1=   aiPi

2 = ( )

   YM
Int

Y1( )= 0.82
Y1( )=0.586

Y2 ( ) =0.82
Y2( )= 0.6

10.  ( ). - .

0

0,1

0,2

0,3

0,4

0,5

0,6

0,7

0,8

0,9

1

W U S A I D
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